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G4-M3-Llesson 10

1. Solve using the standard algorithm.

a. 2x52 b. 7x52
5
5 2 z | cross outthe 1 ten
x 2 x 7 .
1 on the line because
1 0 4 3 6 4 i've added it to the
35 tens.
c. 4x163 d. 8 x 4,861
in contrast _
to the partial i &6 3 4, 8 & 1
products X 4 X 8
method, | émé 2 3 g é 8 B
add as | :
solve, TN
recording | use unit language to multiply. Eight times 4 thousands is 32
the product thousands. | add 6 more thousands to make 38 thousands, or 3 ten
in asingle thousands 8 thousands.
line.

N

2. Mimiran 2 miles. Rajran 3 times as far. There are 5,280 feet in a mile. How many feet did Raj run?'

Mimi Z

>

Raj { 2 | 2 2 5,280 | 5,280 | 5,280 | 5,280 | 5280 | 5,280

L . A
e
6 5, 2 8 0
a=5280xs X &
| can choose to solve using 2 place _ Frmth
gap =31 680 3 1, 6 8 0

value chart or using partial
products. But using the algorithm is
most efficient for me. Rajron 31, 680 feel.

EUM“ Lesson 10: Multiply three- and four-digit numbers by one:digit numbers applying

M ATH“ the standard algorithm.
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